What day of the month is your birthday ?
What are the last 2 digits of your address ?
What are the last 2 digits of your zip code ?
What are the last 2 digits of your social security number ? an
SCORE: __ /120 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

ONLY SCIENTIFIC CALCULATORS ALLOWED

Math 1A (7:30am — 8:20am)
Midterm 2
Wed Nov 26, 2008

State the definition of “local maximum®. SCORE: ___ /4 POINTS
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State the Extreme Value Theorem. ’ SCORE: __ /4 POINTS
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Find the global extrema of f(x) = on [v— 8 2], and classify each as a maximum or minimum, SCORE: __ /10 POINTS
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Sketch a graph of a function f(x) which satisfies all the following conditions. SCORE: il 8 POINTS

fM =2, f(2)=4, f'(1) is undefined, _Qi s 4 e
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Evaluate the following limits. Show all relevant work. SCORE: ___ /14 POINTS
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Use an appropriate linear approximation to estimate tan™' 0.9 . SCORE: ___ /10 POINTS
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Using Newton’s method to approximate \/5 , find values for x;, X, and X, in decimal. SCORE: __ /10 POINTS

NOTE: You do NOT need to complete Newton’s method. You only need to give a reasonable value for X, then calculate x, and X, .
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Find the critical points of f(x) = .— » and using the SECOND DERIVATIVE TEST, classify each as SCORE: /10 POINTS

a local maximum or minimum. You must show the calculated values of the second derivative.
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The graph belowSiawa f o) EE 1S NOT f(x) SCORE: __ /10 POINTS

Answer the following questions about the functionf(X).
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Sketch a graph of f(x) = e_; using the full procedure discussed in class.
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SCORE: ___/20 POINTS,
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An advertisement consists of a rectangular printed region plus 3 cm margins on the side and 4 cm margins SCORE: __ /16 POINTS
at top and bottom. If the area of the printed region is to be 300 em?, find the dimensions of the printed region that minimize the total area.
SHOW ALL WORK,
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© BONUS QUESTIONS ©

ON OTHER SIDE




